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MAT 192, Quiz #3, Fall 2‘016

Instructions: Show all work. Answers without work required to obtain the solution will not receive full

credit. Some questions
unless specifically asked|to estimate.
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1. Integrate f@:dx by trig substitution.

ay contain multiple parts: be sure to answ

er all of them. Give exact answers

X |® fon S-
4 X2 = Hnd © =56
S Snc@fu."’“gde \I_\';ﬁl \ Sect = 52e©
L SeOAg - I
- fS o (L = 2(cscze
55‘5?'9 = 4Y - S (56 sino O8I Smm@d@ fc,sc d¢
] I- +a e a‘lwse‘Str\B [N2O
—2.\ \csa,z@ -wi,o{—léhc,’:”[h[asm%se zhme
2 —
"lvxl Vil ad 4 ol PSR ”\n[ii( H: *C \[—‘
{ 2%
2. Usepartialfractionstointegratefﬁ@ 14 N Pyt C c{
X ] xl-{-q
Ax+9 + B R+ n-C = O
AtB o =21A=r6 G\Am
C-B=O Cr&RrB=-\ ( ___5_____ . XA\ &x
"~ q-d=10 | X X 49
-C= | )
[ 2 = &
X9 x4
| X
hn (x| |+ 5 la (X244 - -gaw‘mc-(s) YC
|




3

For each integr

to integrate.
1 edrctany

-1 y2+1

dx
b. [ sy

s

c. [escadx

bae

&‘Tfosh'&tm

= avclany

al below, determine which integration strate

dy d. j;r t cos

e. f Ax—2

x2—2x—

Sulbrshhohon p st

Q peds
*+ i

gy is appropriate. You do not need

tdt

it

= dx

[ petone




